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A A, B ol Hiate] n(A) =13, n(B) = 16, n(AUB) = 21 & o,
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A= {alvE 10 Ol5te] &5}, B = {xxE 109] o4}
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L3+T7=10




AT A = (L2348 = {3.4,5.6,7 °13, n(A U X)
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.
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BE A xof giste] f(x) = f(x+ 12) S HEAFL f(1) =
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S5
f(13) = f(1+12) = f(1)
f(25) = f(13+12) = £(13) = f(1)
F@37) = f(25+12) = f(25) = f(1)
wEbA EA42 (1) + (1) - f(1) = f(1) =3
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17. AR f(x) = ax® +b O] AL 7hf1(5) =

84+b—4%}fe o}-OEIE]-'

Ado] AHelA fla)=b e f1(b) =a
Zf1(6)=2 = f(2)=5°[
tq-a]-/\ f(x) = ax® + b A
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x41ﬂ1ﬂ°13} of @, (fogo f)(b)
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@ d ® e
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Yo Zf; o] Jzjme] F2Ao] AL
2 B
= = — EL
X 3,)7 3 ]J_,
;lxii—z] _j_\"ﬂl-'-_,] /L_Q]Ho].;gl}_\_}%
b a
= —= — —0O
X 2,}’ 9 ]E}'
2__b 5 a
3° 23 2
10 4
S, = — b_
a 3 3
La+b=2
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4, n(B-C) =3°|th. o] o, 3 B- (AU C) 2] Y&9] H5=?

Lo

@ 174 @27H @ 67 @ 771 ® $ith

B

AcCC o ANC =¢ o=
#l cholo] 1o B A Azt
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@ 0<ax<4 @ a>4 @a24

@ a>2 ® 2<ac<4
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0<x<2 My = f(x)9 2z}

x = 1°] tiste] tfAo]B 2
y=(fof)(x) TehzE

0 < x < 2914 x = 1] thsto] tfA o]t

y=(fof)(x)=f(f(x)eIA
f(0) =f(1) =3

FFM) =rB) =1
f(F(2) = (1) =
fF®3)=r1)=3
T, y = (fo f) ()=
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® -2 @ - ® -1 @_5 2
B
-5 <x<-1°04 AA y=ax7}
= 3x—1 _ _
dhy= T o R g e
dzof Qelob e, N e
_ 3x-1 N -
= x+1
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